Multiply



Installation method Float, stick down or nail down









BF06 Natural Oak Brushed, UV Oiled

Grade ABCD Bevel edge Yes **Surface texture** Brushed **Dimensions** 18mm x 125mm x

300-1200mm Pack size 1.20m² Packs per pallet 48 m² per pallet 57.60m² **Installation** Float, stick or nail down



BF12 Oak Brushed, **UV** Oiled

Grade BCD Bevel edge Yes **Surface texture** Brushed **Dimensions**

20mm x 190mm x 1900mm (1 nested length)

Pack size 1.80m² Packs per pallet 45 m² per pallet 81.25m² **Installation** Float, stick or nail down



BF13 Oak. **UV** Lacquered

Grade BCD

Bevel edge Yes **Surface texture** Flat sanded **Dimensions** 1900mm (1 nested length)

20mm x 190mm x Pack size 1.80m² Packs per pallet 45 m² per pallet 81.25m² **Installation** Float, stick or nail down



BF14 Autumn Oak Brushed, UV Oiled

Grade ABC Bevel edge Yes **Surface texture** Brushed **Dimensions**

15mm x 125mm x 400-1200mm Pack size 1.20m²

Packs per pallet 45 m² per pallet 54m² **Installation** Float or stick down



BF15 Golden Oak Brushed, UV Oiled

Grade ABC **Bevel edge** Yes Surface texture Brushed **Dimensions** 15mm x 125mm x 400-1200mm Pack size 1.20m² Packs per pallet 45 m² per pallet 54m² **Installation** Float or stick down

Engineered Narrow



Installation methodFloat or stick down











BF10 Natural Oak Matt UV Lacquered

Grade Mixed

Bevel edge Yes

Surface texture

Flat sanded

1092mm

Dimensions 14mm x 130mm x

Pack size 0.99m²

Packs per pallet 49 m² per pallet 48.51m²



BF41 Silver Matt UV Lacquered

Grade Mixed
Bevel edge Yes
Surface texture

Flat sanded **Dimensions**

14mm x 130mm x 1092mm

Pack size 0.99m²
Packs per pallet 49
m² per pallet 48.51m²



BF42 Alaska White Matt UV Lacquered

Grade Mixed Bevel edge Yes

Surface texture Flat sanded

Dimensions

14mm x 130mm x 1092mm

Pack size 0.99m²
Packs per pallet 49
m² per pallet 48.51m²



BF43
Butterscotch
Matt UV Lacquered

Grade Mixed Bevel edge Yes

Surface texture Flat sanded

Dimensions

14mm x 130mm x 1092mm

Pack size 0.99m²
Packs per pallet 49
m² per pallet 48.51m²



BF44 Milk Chocolate Matt UV Lacquered

Grade Mixed

Bevel edge Yes

Surface texture Flat sanded

Dimensions

14mm x 130mm x 1092mm

Pack size 0.99m²
Packs per pallet 49
m² per pallet 48.51m²



Engineered Classic



Installation methodFloat or stick down









BF01 Oak Natural Matt Lacquered

Grade Mixed

Bevel edge Yes

Surface texture

Flat sanded

Dimensions

14mm x 180mm x 1092mm

Pack size 1.37m²

Packs per pallet 40 m² per pallet 54.80m²



BF02 Country Oak Brushed & Oiled*

Grade Country

Bevel edge Yes

Surface texture

Brushed

Dimensions

14mm x 180mm x 2200mm

Pack size 2.77m²

Packs per pallet 40 m² per pallet 110.80m²

FSC® mix



BF03 Rustic Oak 3 Strip UV Lacquered

Grade Mixed

Bevel edge No

Surface texture

Flat sanded

Dimensions

14mm x 207mm x 2200mm

Pack size 3.18m²

Packs per pallet 40 m² per pallet 127.20m²

FSC® mix



BF11 Oak 3 Strip Matt Lacquered

Grade Mixed

Bevel edge No

Surface texture

Flat sanded

Dimensions

14mm x 207mm x 1092mm

Pack size 1.58m²

Packs per pallet 40

m² per pallet 63.20m² FSC® mix



BF16 Grey Oak Washed 3 Strip Matt UV Lacquered*

Grade Mixed

Bevel edge Yes

Surface texture

Brushed

Dimensions

14mm x 207mm x 2200mm

Pack size 3.18m²

Packs per pallet 40 m² per pallet 48.51m²

^{* 5}GC click installation system

Product Overview

						PLANK			PACK	PER PALLET	
SHORT CODE	ITEM	SURFACE FINISH	CONSTRUCTION	JOINT	FSC®	THICKNESS (mm)	WIDTH (mm)	LENGTH (mm)	SIZE (m²)	PACKS	COVERAGE (m²)
MULTIP	LY										
BF06	Natural Oak Brushed	UV Oiled	Multiply	T&G	FSC®	18	125	300-1200	1.20	48	57.60
BF12	Oak Brushed	UV Oiled	Multiply	T&G	FSC®	20	190	1900 / 1 Nested	1.80	45	81.25
BF13	0ak	UV Lacquered	Multiply	T&G	FSC®	20	190	1900 / 1 Nested	1.80	45	81.25
BF14	Autumn Oak Brushed	UV Oiled	Multiply	T&G	FSC®	15	125	400-1200	1.20	45	54
BF15	Golden Oak Brushed	UV Oiled	Multiply	T&G	FSC®	15	125	400-1200	1.20	45	54
ENGINE	ERED NARROW										
BF10	Natural Oak	UV Lacquered	Engineered 3-Ply	Click 5G		14	130	1092	0.99	49	48.51
BF41	Silver	Matt UV Lacquered	Engineered 3-Ply	Click 5G		14	130	1092	0.99	49	48.51
BF42	Alaska White	Matt UV Lacquered	Engineered 3-Ply	Click 5G		14	130	1092	0.99	49	48.51
BF43	Butterscotch	Matt UV Lacquered	Engineered 3-Ply	Click 5G		14	130	1092	0.99	49	48.51
BF44	Milk Chocolate	Matt UV Lacquered	Engineered 3-Ply	Click 5G		14	130	1092	0.99	49	48.51
ENGINE	ERED CLASSIC										
BF01	Oak Natural	Matt Lacquered	Engineered 3-Ply	Click		14	180	1092	1.37	40	54.80
BF02	Country Oak Brushed	Oiled	Engineered 3-Ply	5GC	FSC® Mix	14	180	2200	2.77	40	110.80
BF03	Rustic Oak 3 Strip	UV Lacquered	Engineered 3-Ply	Click	FSC® Mix	14	207	2200	3.18	40	127.20
BF11	0ak 3 Strip	Matt Lacquered	Engineered 3-Ply	Click	FSC® Mix	14	207	1092	1.58	40	63.20
BF16	Grey Oak Washed 3 Strip	Matt UV Lacquered	Engineered 3-Ply	5GC		14	207	2200	3.18	40	48.51
CHEVRO	ON TILE										
BF50	Natural Oak Brushed	UV Oiled	Multiply	T&G	FSC®	15	300	600	1.08	48	51.84

Accessories including skirting, edging strips, door bars, scotia and cleaning & maintenance product strips, door bars, scotia and cleaning & maintenance products.



T-Section

Also known as a T-bar or Twin profile, this covers the gap between two floors of equal height such as in doorways, over expansion gaps or as a room divider.



Ramp Section

Sometimes referred to as an Adaptor or Reducer, this provides a neat transition between two floors of varying height.



Scotia

Ideal for hiding the expansion gaps around the edge of a room, for example if the skirting board hasn't been removed and replaced when the floor was fitted.



Bona wood floor cleaning kit

Designed for regular maintenance of all Basix lacquered and UV oiled floors.

